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Instructions : (1)

[ Qurss Lo;ﬁlj@umraadT : 70
[Maximum Marks : 70

Sleundl o cTeTST GTEMLIGEET sAurissié
Qararareyd. sEsLiLdedd GapudmLden, Sions samEmantuTemflLLD
o | anqwrss Qsfledlssab.

feolb  deg  SBHUY wolmar wLLACH FWHUSDGD
<g5CETEHeusH@EL Lwal(ss Coua@m@b. ULEEE auausn®

Quenfléd LwaTLIhSSeLD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

GiLy : Ceemaiurer Lo UL alerbg), FLEUTHSNET 6T(HS6YLD.

Note H

@Dy :

Note :

Draw diagrams and write equations wherever necessary.

—

i)
(i)

(i)
(i)

u@$l - 1/ PART - 1

Simensgl elamésEps@n oL wafssab. 15x1=15
QsrRssuul_Berar wrpn el sl Weab hymLw alamLmus
Caim0sDsss GMUILHLer el @manyd Garggl er(pse,b.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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paflo afles ol amardo, 15-b Qgrgd 3-1b aflmslied e-dmeam an
saflogdler craslyrer @enioliL :

(c@l) 152 2s? 2p6 3s2 3p2 (%) 152 252 2p4

(&) 1s?2s22p63s23p3 () 1s22s22p3

An element belongs to group-15 and 3t period of the periodic table. Its electronic
configuration would be :

(a) 1s22s22p® 352 3p2 (b) 1s22s22p*

(c) 1s22s22p63s23p3 (d) 1s22s22p3

LIT&EenaUL_Ig 6o @)enuiLy :

(1) AlyO3nH,0 (<) Fe,045:2H,0

(&) AlO4 (F) Qe ergieyerena
Bauxite has the composition :

(c) Al,O4 (d) None of the above

R (PSP cuans allenarwrang) 60 Hlfl_fisefld 75% Hlemey Aumdlpg). 1Gs ellanar,
<65 flupsamansaiss 50% Hlanpay ups Cseneuwrar sreaid ;

(=1) 35 BblLmiger (<) 20 BIOlL_riger

(@) 75 Hlbl_rasar (/) 30 Hllrmsar

If 75% of a first order reaction was completed in 60 min, 50% of the same reaction
under the same conditions would be completed in :

(a) 35 minutes (b) 20 minutes

(c) 75 minutes (d) 30 minutes
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Gétamaratahmer ey efenad argeanfl enpl Gom QuenFenen o6l ) e s

wrhpfpg ?

(e2y) ZnHg/NaOH (ea},) Zn/NH,CI

(@) Sn/HCI (rr) @eveu senenpgid

Which of the following reagent can be used to convert nitrobenzene to aniline ?
(a) ZnHg/NaOH (b) Zn/NH,CI

{c) Sn/HCI (d) All of these

HO-CH,-CH,-OH -g QuieiGuryéd siflesgLe daliuiu@ssin Gurg)
2 HaumTaug)

(=1) Qugsand

(<=t) Qugsamuis iSlewd

(8) €O,

(/) Sleperwirsamed

HO-CH,—CH,—OH on heating with periodic acid gives :

(a) Methanal

(b) Methanoic acid
(c) CO,

(d) Glyoxal

o Cars <w el ullen %&a&g@mﬁ)m erair ymw wdHlilaart Qup bl ;s Gw

Sjenanreyd CamoL

(1) K4[Fe(CN)g] (<=4) [Fe(CN)3(NH;)3]

(@) [Fe(CO)s] () (<p) womd () Qramdo
A complex in which the oxidation number of the metal is zero is :
(a) K,[Fe(CN)gl (b) [Fe(CN)5(NH;)5]

(c) [Fe(CO)g] (d) Both (b) and (c)
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Beteumeuearaupmier e Qaenfl-Cigranevit siflowisea|b, smorsa|b GawuduL
Plgyid ?

(<) HPOZ- () HCl (&) Br- () SOz~

Which of the following can act as Lowry-Bronsted acid as well as base ?

(a) HPO2- (b) HCl (c) Br- (d) SO03F~

Gurrréedar s SDTFQMT) :
(=) SIS Femenin 2 L Wg

(<) BOH@®s Haremw 2 enl_Wg
() Frilwedys sereo 2 L ILig
() <ifleg semano 2 enLwig)
An aqueous solution of borax s
(a) basic

(b) neutral

(c) amphoteric

(d) acidic

Senaumeuaneuhmer e @MU ST 6lenenGous LIOPSEDE TOSSEET_ [ ?
(1) erarQemrule @anL_reCammid

(=) Camui wperpufer oGuomaflur swil &g e

(8) bigs HCl weraflavauder s&Crrdlen BrrouEssed

() Csr® werpu9e sHzs e surilgse

Which one of the following is an example for homogeneous catalysis ?

(a) Hydrogenation of oil

(b) Manufacture of ammonia by Haber’s process

(c) Hydrolysis of sucrose in presence of dil.HC]

(d) Manufacture of sulphuric acid by Contact process
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A CLraNmpa swGammerani-fer e meur@b eflenar (AemeupeuamaubmaT cTHHE
FTEDTSH ©_CTeng) ?

() eTedLymen seur GamiiL elener

(<) smaait UHSLE afaar

(Q) smeeui Gsmii elenan

() ereodlyman seut uHaS( efenan

The formation of cyanohydrin from acetone is an example of :

(a) electrophilic addition

(b) nucleophilic substitution

(c) nucleophilic addition

(d) electrophilic substitution

Qeneuqmid &ERCadD Hevasener, ampsammibaetern CUrgleurer <A pCardm

Hlened wirg! ?

(34) +5 (1) +4 (@) +3 () +2

Which of the following oxidation states is most common among the lanthanoids ?
(a) +5 (b) +4 (c) +3 (d) +2

oeumrGL omled] oren euerWmESEILBHS DG

<) gm Guored Qurmanar elBelss ComauuBb Wlagm Lo

(

(<=4) 1 &L pranmed &b Qeaaelu@b Werar L b

(@) 6.22% 1010 ravsL ramme sopg AsdoUUBD Werer L b
() 1 Comed erevéLyranmed Gopg CedeliuBb Wergr L b
Faraday constant is defined as :

(a) Charge required to deposit one mole of substance

(b) Charge carried by 1 electron

(c) Charge carried by 6.22x 100 electrons

(d) Charge carried by one mole of electrons

[ SmLuys / Turn over

Kindly send me your answer keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net www.CBSEtips.in

5922 6

13.

14,

1S.

Aétaumib ondGanm @nfebseid e Sireniowjeniuig) ?

(@) uGrdllen () ovwallar (@) Hevardar () alydlen
Which of the following amino acids are achiral ?

(a) Proline (b) Alanine (c) Glycine (d) Leucine

2 Gaors Genpuyerer @®OUT( srariL@n UG s :

(=) Zno (<) NaCl (@) Kcl () FeO
The crystal with a metal deficiency defect is :

(a) ZnO (b) NacCl (c) KCl (d) FeO

ap(bueal erénug ereucuens GO ?
(=1) aumyefleh Firiotn () aurwyelley femrioin

() Brogdé aumy () aumyefled aumy
Fog is colloidal solution of :
(a) liquid in gas (b) solid in gas

(c) gas in liquid (d) gas in gas
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6x2=12

@iuy : aCsgib oym eNamdsEni@ daiwddasan. e oar 24-6@
SLLmuons clal waldsab.

Note : Answer any six questions, Question No. 24 is compulsory.

16. salobd wHmib SrE S Awaipfpden_Cuirer Caumur®ser wraney ?

17.

18.

19.

20.

21.

22,

What are the differences between minerals and ores ?

Fe3* wppd Fe?* -& et @ifls Haveolig semanid 2 aLwg) ? e ?

Which is more stable Fe3* or Fe2+ 2 Why ?

SIERTEY ETERT — U WMISSALD.

Define Coordination number,

ssli9eariiyll LG&SBISET — eUenTm&sHe, L.

Define covalent solids.

5D cuns eldarsarar ahHEHEET_(HEME T(HIIS.

Give examples for the first order reaction.

oifafliuey Qamarenguier aurbLser wrenel ?

What are the limitations of Arrhenius concept ?

Wemapenand seués — @GHILL alenys.

Write a note on Electrophoresis.
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23. IUPAC Quwfiewens @lind@s.

CHy~OH
CHj

|
(<) CH3-C - oH (<)

|
CH,

Give the IUPAC names :

CH,—-OH
CH, 2
!
(a) CHz-C - OH (b)
|
CHj

24. Qeraumd eleareufansuie o drar A pmb B Gstohisemar sers.

CH; -Br — Nl , o _ LiAlH, o N,
Identify A and B in the following sequence of reactions.

CHy ~Br — N3 , o _ LiAH, o N,

U@g - III / PART - I

GOy : Bz ey b B0 Menndsens s derLwefdsad. efarr eramy 33-55
SLLmuwns efewellésaywb, 6x3=18

Note:  Answer any six questions. Question No, 33 is compulsory.

25. anragefe & Coforiser GTEDITE) 6Tetrer 7 T HSZIGETL{H) &(MHa.

What are interhalogen compounds ? Give examples,

A
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QeriQsmed Geiwmsala L@LsE wTma ?

What arc the propertics of interstitial compounds ?

sirafeflum swaumtyoar aupd oo Ui QuppeTaraipan efleTéEs.

Write Arrhenius equation and explain the terms involved.

leugeis sLssdHpoear LrdéEn erpaflsd wreel ?

What are the factors that affects electrolytic conductance ?

emuULssTar elevarGaus wrppid eramra creran ? TOSHESTH SGS-

What is homogeneous catalysis ? Give example.

oL asde mar swurlagn qCaogibd @ (poD®L eT(pEIS.

Write any one method of preparation for diethyl ether.

GanGeare.Uriid efleerani 6r(Psis.

Write Haloform reaction.

9 iEeT erenmmed eranan ? THSHFSTLEH SHS.

What are Epimers ? Give example.

[Ag(NH,),]* -6 e, epow o Goora gjwaf whmb IUPAC Cuweny eT(pgis.

Write the following for the complex [Ag(NH;)o] .

(a) Ligand (b) Central metal ion (c) [IUPAC name

[ Hmiiys / Turn over
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U@ - IV / PART - IV

@My NG Sl @thés @b efenL_wiafldame b, Sx5:28

Note :  Answer all the questions,

4 (@) () yell mitiy gpenp - GO uenrs.
(ii)  Péseas gnimwwursst LuaLED wremr perpuienar eSlaTéEs.
S|eV6Vg|
() () wps Qe elanaray GTGIIDITED GTEvTEH ?
(i) CGurfla Siblwsden Lwenser wWrepey ?
(&) (i) Write a note on gravity separation method.
(i) Explain the Mond’s Process of refining nickel.
OR
(b) (i) What is inert pair effect ?

(i) What are the uses of boric acid ?

35. (1) (i) pseigaflear Lweanser wreneu ?
(ii) seameuggrer ereueurn swrildstiL@dng ?
SIVEVG)
(<) Deuirani Qaratapsuilen GCam_LrHamars snms.

(a) (i) What are the uses of oxygen ?
(i) How will you prepare bleaching powder ?
OR

(b) Write the postulates of Werner’s Theory.
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(1) vgs H@Torismar L& alg.eulopm FHemorbser el (hHg Gaupu®pgs.
96060
() () pH - cuenpumEHayLD.
(i) Qumy ewel eleeraes m TOgEET_HLE ollaTébEs.
(a) Differentiate crystalline solids and amorphous solids.

OR
() () Define pH.

(i) Explain common ijon effect with example.

(=) QpireevL. swemuT el § FHedEsa.
LIV

(<) NewenGeus wrpPluden ApliQwerser wreneu ?

(a) Derive an expression for Nernst equation.

OR

(b) What are the characteristics of catalyst ?

(1) ~urifls sifesdar @hsED uamimen orbsgbsm(HLer flen&@s.
S|V
(<=1) fmehiy eueys,
(i) srrenueSear edlanar
(i) smiflwe srelenw( Glg,rr@tjq
(a) Explain the reducing action of formic acid with example.

OR

(b) Write a note on :
(i) Carbylamine reaction

(ii) Gabriel phthalimide synthesis

-00o0-
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